M = 5 8
ERBRE(EER)

ERHR A ER ] ZRIER ] miE B
BT 8 X E)II#R 878.9 X 1.0 — 0 X 8789 m
SBHSERERERR 2,101.7 X% 1.0 — 0 x 21017 m
EER ZEREED 1,195.9 X 10 — 0 x 1,1959 m
EHER ZERIEQ 2,133.2 x 10 — 0 x 21332 m
FWEEHE 1SR 2,6504 X 1.0 — 0 x 2,6504 m
T 3E ] HH R R 1,777.2 % 1.0 — 0 X 1,7772 m
BRE@DRESE 10,7373 m

10,7000 m
BRELSE 10,737.3 % 0.7 + 1,000 75 t
EIRERE (2EH)

ERHR A ER ] ERmEiE ] EiE(m2) B
FTEXETE)IHR 2,276.6 X 1.0 — 0 X 22766 m
SBHSERERERR 2,101.7 x 1.0 — 0 x 21017 m
EER ZEREED 1,195.9 X 10 — 0 x 1,1959 m
EHER ZERIEQ 2,133.2 x 10 — 0 x 21332 m
FWEHE 1SR 2,6504 X 1.0 — 0 x 2,6504 m
T 3E ] HH R R 1,777.2 % 1.0 — 0 X 1,7772 m
BT R & iR 1,130.8 X 1.0 — 0 x 1,1308 m
BT E A REF 1SR 3,065.4 X 1.0 — 1806 X 05 = 29751 m
T8 A= SR 596.5 X 1.0 — 0 X 5965 m
BT 8 B A 2—HR 24483 X 1.0 — 0 X 24483 m
=X 19,2857 m

19,3000 m
BRELSE 19,285.7 % 0.7 1,000 135 t




